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QUESTION 1

You plan to use Flashback Drop feature to recover a dropped table SALES_EMP. No other table with the same name
exists in the schema.

You query RECYCLEBIN and find multiple entries for the SALES_EMP table as follows: You then issue the following
statement to recover the table:

SQL> SELECT object_name, original_name, droptime FROM recyclebin; What would be the outcome of the precedent
statement?

OBJECT_NP;ME DELIGIN}{L_NHME DROPTIME

BINS /m0DrBVIO9RFGORAS3dC-—FPW==50 SALES_EM? 2007-12-07:11:08:55
BIN52DelssLeQTqgH/n80RmM2ZJIQ==50 SALES EMP 2087=-12-07:11:11:38
BINSUugroNodQy6ouDtaRA+XOVw==50 SATES EMP 2007-12-07:11:08:18

SQL> FLASHBACK TABLE sales emp TO BEFORE DROP;

A. It retrieves the latest version of the table from the recycle bin

B. It retrieves the oldest version of the table from the recycle bin

C. It retrieves the version of the table for which undo information is available

D. It returns an error because the table name is not specified as per the names in the OBJECT_NAME column

Correct Answer: A

QUESTION 2

Which two statements are true about a duplicate database that is created by using the DUPLICATE command in
RMAN? (Choose two.)

A. Itis a copy or a subset of the target database.

B. It is opened in RESTRICT mode after a duplicating operation.

C. Itis created by using backups and archived redo log files from the target database.
D. It is created with the same database identifier (DBID) as that of target database.

Correct Answer: AC

QUESTION 3
Which two statements are true about the duplexing of the backups taken by RMAN? (Choose two.)

A. It\\'s only supported for the backups performed on the tape

Latest 120-034 Dumps | 120-034 VCE Dumps | 1Z20-034 Practice Test 2/4


https://www.passapply.com/1z0-034.html
https://www.passapply.com/1z0-034.html
https://www.passapply.com/1z0-034.html

VCE & PDF https://www.passapply.com/1z0-034.html
2024 Latest passapply 1Z0-034 PDF and VCE dumps Download

PassApply.com

B. It is not supported for backup operations that produce image copies C. Duplex backups need a parallelism for the

device to be equal to number of copies

D. Duplex backups can be performed to either disk or tape, but cannot be performed on tape and disk simultaneously

Correct Answer: BD

QUESTION 4

Examine the parameter settings in your database.

archive lag target

db flashback retention target
fast start io target

fast start mttr target
memory max target
memory:target

pga_aggregate target

sga target

SQL> SHOW PARAMETER SGA MAX ST

sga max size

Which statement is correct about the database?

integer
integer
integer
integer
big integer
big integer
big integer
big integer

big integer

A. Automatic memory management is disabled because PGA_AGGREGATE_TARGET and SGA_TARGET are not set.

B. The instance is started but the database will not be opened until PGA_AGGREGATE_TARGET and SGA_TARGET

are set.

C. The database is opened but users cannot perform transactions until PGA_AGGREGATE_TARGET

andSGA_TARGET are set.

D. Automatic memory management is enabled and, as per policy, 60% of the memory for System Global Area (SGA)
and 40% of the memory for Program Global Area (PGA) will be distributed at startup

Correct Answer: D

QUESTION 5

Which two statements are true regarding an Automatic Storage Management (ASM) instance? (Choose two.)

A. An ASM instance mounts an ASM control file

B. An ASM instance uses the ASMB process for rebalancing of disks within a disk group
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C. Automatic Memory Management is enabled in an ASM instance even when the MEMORY_TARGET parameters not
set explicitly

D. An RDBMS instance gets connected to an ASM instance using ASMB as a foreground process when the database
instance is started

Correct Answer: CD
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